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SDI'is the abbreviation of Sitt Density index, which is a measure for the fouling capacity of water in revese osmosis
system. As the quality of source water changes frequently, the feed water should be measured by a SDI apparatus
weekly or monthly.

SDI can measure the relative quantity of suspended matter in thd feed water. The test measures the rate at
which a 0.45-micrometre fiiter is plugged when subjected to a constant water pressure of 206.8 kpa(30 psi).ASTM
choose the fims with the diameter of 045 u m as the apparatus?fiter, because this fim can easily be fouled by suspened
matter instead of solid particles, such as sand or scales. So SDI value can work as an alam to ensure thd soild
particles in the feed water not to foul reverse osmosis membrane.
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[ SDI METER OPERATING INSTRUCTION ]

Pa—Jam Index under the inlet pressure 0.21Mpa

Tt =Usually, the total examination time (min)is Tis,with P»<75%0therwise, time
Twor Ts, with Px<75%

Ti=The first time when the 500ml water to be fitrated(second)

T-—The time(usually, T+s,second)when 500ml water to be fittrated after T+

Notes: 1 The time taking 500ml water sample ia approximate 5 times than the time taking 100ml water sample fit' s
much longer than 5 times, time the time taking 100ml water sample to be sued to work out SDI.
2'To make sure the precision, Px should be less than 75%, if Px moer tha 75%, re-exam and get Tz in
shorter time.
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